2 3

TPlpoT (PCA t%obeamliné[f)

10 t102 . 15)3
TPp, (PCA fo'beamlinég

1
1

| I I
Gl

__________________________________
n — [Te) o [Te) — n
4 o 9 S o o

© e ' 9

~

107
E
E
E

-0.2

-3
~ 02710
0.95

o
<ANoIQ > oney nﬂ.mmm (wr) <%p o

10°
&f

T
EitT
EitT

EFl
FitT

beamlin
d]
al
aj
aj
al

2

2 3
TPlp?T (PCA t%obeamliné'f)
£ 3

¥ (Pcad
0
0
0

1
1

v ey by by by by b iy
o o o o o o N - =
w [ee] (o] < N 4 ~ b

oney (wr) < ®p o > oney (0n) < *di*d o > oney

______________ _
[Te) — [Te) o [Te)
4 o © o

e ?

10
1071
i

—

-3
0.2><10

o
(pe)) <bh Q >

3
beamlin%)O

2

0,
0

TP:I'[:?T (PCA tl

1




	Contents
	Page 1


